4 UO0Oo0oooOooOoogd

4.1 0O0O0O00O0OO

gbooooobooooboboooobobooooobooooobooboobooboOobooooono

>> Fs=8000;

>> t=0:1/Fs:1-1/Fs;

>> s=sin(2 *pi *800*t)+sin(2 *pi *500+t); %2 D OO O0DODODOOOOO
>> soundsc(s,Fs)

>> subplot(3,1,1); plot(s(1:100));

>> sd=wshift(1,s,-5); %s 0 5 000000
>> subplot(3,1,2); plot(sd(1:100));

>> soundsc(sd,Fs)

>> ss=s+sd,;

>> subplot(3,1,3); plot(ss(1:100));

>> soundsc(s,Fs)

subplot 000D 0UD0O0D0UOOO0OUOOO(O0ODDOOD help subplot 0OODO)
OO0 3 50000000000000000000000000O0O0O0O0O0O0O0O0O0OOOOOO?

OO0 3 D00ooooooooooooooooooooO?

gboboobbooobooboobbooboobooboboobooobooboobbooboaboa
gobogobooboobgoobooobobooboobooboooboon

gboobooooooooboooooobooobooboobooooooooboooooooboobobOobOoboooon
ooos50000000000000000000nh=1[100001]10000000000000O000O00O0O
h(1) OODOOO0O00OC0O0OO0ORG) O h(1 +5) 0000000 0000000000000

goooboO0 n0n0bOOoD0OOD sOOO0OODO

>>h=[1 000 0 1]
>> sf=conv(s,h);
>> plot(sf(1:100))

conv 0OOOO0OOOOODOOOOOOO

00 37 conv([1 3], [24]); 000000 OOUDO convOOODOD0OOOOOOODOOOOO (help conv OO
oooooooon)

hODOOOOODOODOOOOOooOooooo
gboobOoboooboboobodgsngbooog

>> n=1:100;

>> Fs=8000;

>> t=0:1/Fs:1-1/Fs;

>> nz=randn(1,length(t));
>> plot(n,nz(n))

>> s=sin(2 *pi *440+*t);
>> sn=0.8 *s+0.1 *nz;

>> plot(n,sn(n))

>> soundsc(sn,Fs)

>> h=ones(1,3)/3

h =
0.3333 0.3333 0.3333
>> fsn=conv(sn,h);
>> plot(n,fsn(n))
>> soundsc(fsn,Fs)
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gbocobOr0obOO0OO0ODOOOOOODOOOOOOD

00 3800 500000000000 riO00O000O0DODODODOD conv(ri, h)y OODOOOODOOOOO

hOOOO0OOOOOriOO0OO0OOO0OO0O0OO0DOO0O0OO0O0OO00O0000bO0000

U0 39 h000000000sn 000000000 ODOO0OO

OO0 40 h = [1 -0.98] 0000000 snOO0O0O0OOOQOOOOOOOOOO?Y

gboobooooooooooooobooboboboooooooboooooobDobobOoboboboooo
gbobod200000000000O000O0000O000O000OO0O0OO00OO0O0OO0OOOOOOOObOOOn

gbooOo2000000000000

MATLAB 000 spectrogram 0 00000 Ohelp spectrogram DO OO0 0000O0ODODOOOOOOOO

god
S = SPECTROGRAM(X,WINDOW,NOVERLAP)

googoooo

>> spectrogram(data,hann(1024),832,1024fs, "yaxis ')

02,03,0400 (hann(1024),832,1024)00 0000000000000 0O00O0O0O0O

00 41 0000D00000OD00O spectrogram U OO0 000000000 O0OOOOOOOO

000000000000 0oU00o0o0UoO000DoO0U (DOoU00O0)0D0O0D0O0LDO0O0O0DD0O0ODOOO0
gbobooboobooboooboboooboooobooooboooobooooooooooboobooboobo

000 LPF(DOO0OOOOO,0000000 (D0O)oo0o0oooo)oooo

000000000 8kHzODO2kHz2O0000000000OCOOO LPFOODOOOODOOOODOOOO

>> h=fir1(40,0.5);
>> stem(h)

goobooboooboobooboooo

0042 h 0000 snOO00O0O0OOQCOOODOOOOODO?Y

U0 43 fir1 J00O00B0Hz OO OO0OODOO0OOODOO LPFOOOODOOOD LPFO snOOO0OOO

00 44 fir1 00000000000000O00000O000O00O00000000O0O00000OO00OO HPF(O
O0000000)0000450Hz00000000 HPFOOOOOOsn O OO0 430 LPFOOOOO HPFO

gooooao

00 45 O0O00O0 HPF,LPFODOOOOODOOOODOOOOO

4.2 0O0O0000O0OOOOO0OO0OO0

sO00000b00b0ooboobobobooooobon

y(n) = z(n) + z(n - 5)

bbby obooobOoboUO.-.O000000000O00DO0O0
z(n—4) 0000 b, 0000000000O0OOOO

bo=bs =1,b; =by =bs = by =0
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00000 ppOOOoooooooO 1 oo0o001]100000O0DO0DOO00000000O0O0O0 nOOOOOOO
ooo
y(n) =0.8y(n — 1) 4+ 5z(n) (5)

gbooaobooaod

ub 46 U0OO0O0OOoooOobOoOoobOoaboooobaooa

(n=0)

1
z(n) =
0 (n>0)

(6)

(6)J000010000000000000000O0000O00000O00DO00UODO0OUODOOUOOOO
gooobooobooboobooboboobooboobooon

o047 0D000ODOOOODOODOOOODODOODOODOOOODODOO

(5)0000000000D0000DO0OU0OOOOO

y(n) —0.8y(n — 1) = 5x(n) (7)

do0o000d «,000000 b, 0000000ay=1,a0 =-08,p=500000000000000 [1
-0.8], [F1 00000 OUOOOOOODOUDOOOODOUOOOOG)DULOODOODDOULOOOODOOUDOOOO
filter OO OO

>> a=[1 -0.8];

>> b=[5];

>> i=[1 zeros(1, 15)];
>> ir=filter(b,a,i);

>> plot(ir)

0000000000000 00O0oOO0000O0OOO00000OOO0O00 (=0000ODOO0oOoOoon)
0000000000000 00O0O0000000000O00000O0000000DOO HR(infinite impulse
response) 0000000000

00 48 U0O0O0O0U (0000000000000 OOOOUDOOOOUOOOOOOOOOO

(3) 00000000 1100000000000 filter 000000000 OOOOOOO

00 49 3)0000O0O00OOOOOOoOn

000000000000 00000000000 FIR(finite impulse response) 0 000000000
gboboboobooboboooboboobobooboboobobooaobobobobooboooboabaoo
MATLABOOOOOODOOCOOODOOOODOODOOOOO fvtool OOODO

00 50 fvtool 00D 0UDODO0ODDOUOODDOUDOOOODO(UOOOO help fvtool JOODOO)

MATLABOOOQOOOOIIRODODOOOODOOCOOODOOOODOOO0ODOCOOOO butterdon
OO0 51 butter DO ODO0OGMHz DODOODDOOOOODOOO LPFOODOOODOOO LPFO snODOOOODO

b 52 butter JUODDUOOODOOO0ODODOOOO0ODOOOO0ODOODODOOOODLDODOODDOOODOODn
HPF(OOOOOUOOD)OOOO450HzOOOOOOOO HPFOOOOOOsn O OO 500 LPFOOOOO
HpPF OOOOOOOO

00 583 fir1 OO0 000000000000 butter OO0OOOO0OODOO0O0DO0O0O0O0O0O0OO fvtool OO
ooooog
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oboooboooboobooooobooboOooboooboooooboO NawilD400OOODOOODOOODO
gboboooboboobooboooboobooooboooobosooboooobooooOoooOoOoooboOooboOobooon
000 5/16(0)00 50000000000000000000OOOOUOOOOOOOOO

1. 00 38,39,4041 000000
2.0047000D0OO
3. 0053000000

4. 0D000OO00O0OO0OOOoOoOOoObOOoOOo0obOOoOoOobOOoOobOOoOooOoOobOobOobbOobOooDOOobOobOOoDbO
gbooobooboobgoooooboo
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